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1. fnu vkSj jkr i`Foh ds 
-----------------

 ds ifj.kke gSaA 
 

1. Day and night are result of earth‟s : 

(A) ?kw.kZu  (A) Rotation 

(B) xq#Rokd”kZ.k cy  (B)  Gravitational force 

(C) ifjØe.k  (C)  Revolution 

(D) dksfjvksfyl cy  (D)  Coriolis force 

2. jsfM;ks lapkj ds fy, ok;qe.My dh dkSu&lh 

ijr mÙkjnk;h gS \ 

 
2. Which layer of atmosphere is responsible 

for radio communication ? 

(A) {kksHke.My  (A) Troposphere 

(B) lerkie.My  (B)  Stratosphere 

(C) vk;ue.My  (C)  Ionosphere 

(D) vkstksue.My  (D)  Ozonosphere 

3. i`Foh viuh /kqjh ij ?kwerh gS % 
 

3. The earth rotates on its axis from : 

(A) if’pe ls iwoZ dh vksj  (A) West to East 

(B) iwoZ ls if’pe dh vksj  (B)  East to West 

(C) mÙkj ls nf{k.k dh vksj  (C)  North to South 

(D) nf{k.k ls mÙkj dh vksj  (D)  South to North 

4. i`Foh vkSj lw;Z dh lcls fudVre chp dh 

nwjh gS % 

 
4. The distance between the earth and sun is 

nearest at : 

(A) v;ukar  (A) Solstice 

(B) milkSj  (B)  Aphelion 

(C) vilkSj  (C)  Perihelion 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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5. i`Foh ds pkjksa vksj ds xSlhs; vkoj.k dks dgrs 

gSa % 

 
5. The gaseous envelope surrounding the 

earth is known as : 

(A) thoe.My  (A) Biosphere 

(B) ok;qe.My  (B)  Atmosphere 

(C) tye.My  (C)  Hydrosphere 

(D) LFkye.My  (D)  Lithosphere 

6. ok;qe.My esa ueh /kkj.k djus dh {kerk eq[; 

:i ls bl ij fuHkZj djrh gS % 

 
6. The moisture holding capacity of 

atmosphere mainly depends on its : 

(A) ok;qnkc  (A) Air pressure 

(B) vkæZrk  (B)  Humidity 

(C) rkieku  (C)  Temperature 

(D) o”kkZ  (D)  Rainfall 

7. dkSu&lh xSl ok;qe.My ds dqy vk;ru dk 

yxHkx 78% gS \ 

 
7. Which gas constitutes about 78% of total 

volume of the atmosphere ? 

(A) dkcZu MkbvkWDlkbM  (A) CO2 

(B) vkWDlhtu  (B)  Oxygen 

(C) vkxZu  (C)  Argon 

(D) ukbVªkstu  (D)  Nitrogen 

8. xzhu gkml xSlksa ds }kjk i`Foh dk vkSlr 

rkieku 2050 rd c<+ tk;sxk % 

 
8. Earth‟s average temperature will increase 

by 2050 by green house gases : 

(A) 0.5°-1.5°C  (A) 0.5°-1.5°C 

(B)  1.5°-5.0°C  (B)  1.5°-5.0°C 

(C)  5.0°-8.0°C  (C)  5.0°-8.0°C 

(D)  8.0°-10.0°C  (D)  8.0°-10.0°C 
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9. ßXykscy okÉexÞ ‘kCn dk iz;ksx loZizFke  

gqvk % 

 
9. The term “Global Warming” was used for 

the first time in : 

(A) 1975 esa  (A) 1975 

(B)  1977 esa  (B)  1977 

(C)  1980 esa  (C)  1980 

(D)  1985 esa  (D)  1985 

10. vkstksu ijr dks {kfr ¼gkfu½ igq¡pkus okyk 

izeq[k mRikn gS % 

 
10. The main product that depletes the ozone 

layer is : 

(A) dkcZu VsVªkDyksjkbM  (A) Carbon tetrachloride 

(B) gSyal  (B)  Halons 

(C) Dyksjks¶yksjksdkcZUl  (C)  CFCs 

(D) mi;qZDr lHkh  (D)  All of the above 

11. xzhu gkml xSlksa esa eq[; :i ls ikbZ tkus 

okyh xSlsa gSa % 

 
11. The gases mainly found in green house 

gases are : 

(A) CO2, CH4, N2O rFkk CFCs  (A) CO2, CH4, N2O and CFCs 

(B)  CO2, SO2, N2 rFkk CFCs  (B)  CO2, SO2, N2 and CFCs 

(C)  CH4, SO2, N2 rFkk CO2  (C)  CH4, SO2, N2 and CO2 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

12. nSfud ifjorZu xfr ds }kjk 
-----------

 ds le; 

ok;qe.Myh; nkc esa ifjorZu gksrs gSaA 

 
12. Changes in atmospheric pressure 

during..........by the rotation of diurnal 

change. 

(A) fnu  (A) Day 

(B) fnu vkSj jkr  (B)  Day and night 

(C) dsoy jkr  (C)  Only night 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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13. ekSle mixzg funs’kky; fLFkr gS % 
 

13. Directorate of Weather Satellite is located  

at : 

(A) ukxiqj esa  (A) Nagpur 

(B) ubZ fnYyh esa  (B)  New Delhi 

(C) f’keyk esa  (C)  Shimla 

(D) iq.ks esa  (D)  Pune 

14. e/; diklh ckny 
-----------------

 rd dh Å¡pkbZ ij 

ik;s tkrs gSaA 

 
14. Altocumulus clouds are found upto 

height of ................ . 

(A) 2&6 fdehŒ  (A) 2-6 km 

(B) 6&8 fdehŒ  (B)  6-8 km 

(C) 8&10 fdehŒ  (C)  8-10 km 

(D) 10&15 fdehŒ  (D)  10-15 km 

15. izfr&pØokr] pØokrksa ds ihNs pyrs gSa rFkk 

budh xfr 
-------------

 fdehŒ izfr ?kaVk gksrh gSA 

 
15. Anti-cyclones follow cyclones and have a 

speed of.........km/hour. 

(A) 10-15  (A) 10-15 

(B)  15-30  (B)  15-30 

(C)  30-50  (C)  30-50 

(D)  50-60  (D)  50-60 
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16. ^DykbesVksykWth* ‘kCn dh mRifÙk gqbZ  

gS % 

 
16. The word „Climatology‟ is originated  

from : 

(A) ySfVu ‘kCn ls  (A) Latin word 

(B) xzhd ‘kCn ls  (B)  Greek word 

(C) teZu ‘kCn ls  (C)  German word 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

17. i`Foh ij ikbZ tkus okyh tyok;q dh ppkZ 

djus okyk foKku dgykrk gS % 

 
17. The science that discusses the climates 

found on the earth is called : 

(A) DykbesVksykWth  (A) Climatology 

(B) ,xzksehfV;ksjksykWth  (B)  Agrometeorology 

(C) osnjksykWth  (C)  Weatherology 

(D) mi;qZDr lHkh  (D)  All of the above 

18. ekSle foKku dh mRifÙk vjLrw ds izfl) xzUFk 

-------------------------- 
ls gqbZA 

 
18. Meteorology is originated from the 

famous book of Aristotle : 

(A) gkbMªksykWftdk  (A) Hydrologica 

(B) ehfV;ksjksykWftdk  (B)  Meteorologica 

(C) ,xzks&ehfV;ksjksykWftdk  (C)  Agro-Meteorologica 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 



 

AG-4008 ( 8 )  Set-D 

19. ^Dykbek* ‘kCn dk vFkZ gS % 
 

19. The word „Klima‟ means : 

(A) v{kka’k  (A) Latitude 

(B) Å¡pkbZ  (B)  Altitude 

(C) dks.k  (C)  Angle 

(D) <ky  (D)  Slope 

20. vR;Ur vYikof/k vuqeku (VSRF) 
-----------

 rd 

dh vof/k dk gksrk gSA 

 
20. Very Short Range Forecasting (VSRF) 

forecast upto : 

(A) 6 ?kaVs  (A) 6 hours 

(B) 12 ?kaVs  (B)  12 hours 

(C) 24 ?kaVs  (C)  24 hours 

(D) 72 ?kaVs  (D)  72 hours 

21. dsUæh; ekSle foKku os/k’kkyk fLFkr gS % 
 

21. Central Meteorological Observatory is 

located at : 

(A) iq.ks esa  (A) Pune 

(B) ubZ fnYyh esa  (B)  New Delhi 

(C) t;iqj esa  (C)  Jaipur 

(D) psUubZ esa  (D)  Chennai 
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22. INSAT dk iwjk uke gS % 
 

22. Full form of INSAT is : 

(A) Hkkjrh; jk”Vªh; mixzg  (A) Indian National Satellite 

(B) vUrjkZ”Vªh; foKku vkSj izkS|ksfxdh  (B)  International Science and 

Technology 

(C) Hkkjrh; jk”Vªh; foKku ,oa izkS|ksfxdh  (C)  Indian National Science and 

Technology 

(D) mixzg laLFkku  (D)  Institute of Satellite 

23. fo’o ekSle foKku laxBu dh LFkkiuk  

gqbZ % 

 
23. World Meterological Organization 

(WMO) was established in : 

(A) 1948 esa  (A) 1948 

(B)  1951 esa  (B)  1951 

(C)  1975 esa  (C)  1975 

(D)  1980 esa  (D)  1980 

24. ekSle iwokZuqeku dh fof/k gS % 
 

24. The method of weather forecasting is : 

(A) ekxZ fof/k  (A) Path method 

(B) Hkwfo{ksih ok;q fof/k  (B)  Geostrophic wind method 

(C) lenkc izo.krk fof/k  (C)  Isobaric gradient method 

(D) mi;qZDr lHkh  (D)  All of the above 
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25. fnu&izfrfnu dh ekSle dh fLFkr dh fofo/krk 

dk la;kstu 
-------------

 gSA 

 
25. ............is a composite of the variety of 

day to day weather condition. 

(A) ekSle  (A) Weather 

(B) tyok;q  (B)  Climate 

(C) vkSlr  (C)  Average 

(D) es?k  (D)  Clouds 

26. ikjs dk fgekad gS % 
 

26. Freezing point of mercury is : 

(A) 0°C  (A) 0°C 

(B)  39°C  (B)  39°C 

(C)  45°C  (C)  45°C 

(D)  49°C  (D)  49°C 

27. leqæ ry ij ok;qe.Myh; nkc dk eku  

gksrk gS % 

 
27. The value of atmospheric pressure at sea 

level is : 

(A) 1011 feyhckj  (A) 1011 millibar 

(B) 1013 feyhckj  (B)  1013 millibar 

(C) 1100 feyhckj  (C)  1100 millibar 

(D) 1113 feyhckj  (D)  1113 millibar 
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28. Lopkfyr ok;qe.Myh; nkc ekid gS % 
 

28. Automatic atmospheric pressure recorder 

is : 

(A) FkeksZxzkQ  (A) Thermograph 

(B) cSjksxzkQ  (B)  Barograph 

(C) gkbVksxzkQ  (C)  Hyetograph 

(D) cSjksehVj  (D)  Barometer 

29. 100 feyhckj fdlds cjkcj gS \ 
 

29. 100 millibars is equal to : 

(A) 29-53 bap  (A) 29.53 inch 

(B) 1-0 bap  (B)  1.0 inch 

(C) 3-14 bap  (C)  3.14 inch 

(D) 34-0 bap  (D)  34.0 inch 

30. Lopkfyr o”kkZ ekid ;U= gS % 
 

30. Automatic rainfall measuring instrument 

is : 

(A) gkbVksxzkQ  (A) Hyetograph 

(B) gkbMªksxzkQ  (B)  Hydrograph 

(C) FkeksZxzkQ  (C)  Thermograph 

(D) ukseksxzkQ  (D)  Nomograph 
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31. tc pØokr dk fodkl oØ iFk gS] rks mldh 

xfr % 

 
31. When the development of a cyclone is a 

curved path, then its speed : 

(A) c<+ tkrh gS  (A) Increases 

(B) cny tkrh gS  (B)  Changes 

(C) ?kVrh gS  (C)  Decreases 

(D) fLFkj jgrh gS  (D)  Remains constant 

32. fMªty esa o”kkZ cw¡n dk vkdkj gksrk gS % 
 

32. In drizzle size of rain drop occurs : 

(A) 0-5 feeh-   (A) 0.5 mm 

(B) 1&2-0 feeh-   (B)  1-2.0 mm 

(C) 2&5 feeh-   (C)  2-5 mm 

(D) 5-0 feehŒ ls vf/kd  (D)  > 5.0 mm 

33. o”kkZ cw¡nksa dk O;kl 
----------------------------------

 rd gksrk gSA 
 

33. Diameter of rain drop is 

upto..................mm. 

(A) 0-5 feehŒ ls de  (A) < 0.5  

(B) 0-5&7-0 feehŒ  (B)  0.5-7.0  

(C) 2&5-0 feehŒ  (C)  2-5.0 

(D) 5&50 feehŒ  (D)  5-50  
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34. o”kkZ dh ek=k fuHkZj djrh gS % 
 

34. Amount of rainfall depends upon : 

(A) ok;qnkc ij  (A) Air pressure 

(B) ok;qe.My dh vkæZrk ij  (B)  Humidity of Atmosphere 

(C) typØ ij  (C)  Hydrological cycle 

(D) rkieku ij  (D)  Temperature 

35. Hkkjr esa ekulwuh o”kkZ gksrh gS % 
 

35. In India Monsoon rainfall occurs  

through : 

(A) nf{k.kh&if’peh ekulwu ls  (A) South-West Monsoon 

(B) ‘khr ekulwu ls  (B)  Winter Monsoon 

(C) mÙkjh&iwohZ ekulwu ls  (C)  North-East Monsoon 

(D) nf{k.kh&iwohZ ekulwu ls  (D)  South-East Monsoon 

36. vksstksue.My ijr dh Å¡pkbZ 
------------

 rd ikbZ 

tkrh gSA 

 
36. Ozonosphere layer is found upto height  

of : 

(A) 18&30 fdehŒ  (A) 18-30 km 

(B) 30&60 fdehŒ  (B)  30-60 km 

(C) 60&90 fdehŒ  (C)  60-90 km 

(D) 500 fdehŒ  (D)  500 km 

37. {kksHke.My dh ijr ok;qe.My esa 
-----------------------

 dh 

Å¡pkbZ rd ikbZ tkrh gSA 

 
37. Troposphere layer is found upto .......... 

height of atmosphere. 

(A) 0&18 fdehŒ  (A) 0-18 km 

(B) 18&30 fdehŒ  (B)  18-30 km 

(C) 30&60 fdehŒ  (C)  30-60 km 

(D) 60&90 fdehŒ  (D)  60-90 km 
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38. dkSu&lh xSlsa ok;qe.My ds 98% ls vf/kd 

Hkkx dks ?ksjs gq, gSa \ 

 
38. Which gases cover more than 98% part of 

the atmosphere ? 

(A) ukbVªkstu vkSj dkcZu MkbvkWDlkbM  (A) N and CO2 

(B) ukbVªkstu vkSj vkWDlhtu  (B)  N and Oxygen 

(C) vkWDlhtu vkSj dkcZu MkbvkWDlkbM  (C)  Oxygen and Carbon dioxide 

(D) vkWDlhtu vkSj gkbMªkstu  (D)  Oxygen and Hydrogen 

39. okr lwpd dk mi;ksx 
-----------------

 fu/kkZfjr djus 

ds fy, fd;k tkrk gSA 

 
39. The wind vane is used to determine : 

(A) ok;q osx  (A) Wind speed 

(B) ok;q nkc  (B)  Wind pressure 

(C) ok;q fn’kk  (C)  Wind direction 

(D) mi;qZDr lHkh  (D)  All of the above 

40. lee.My ijr leqæ ry ls 
-----------------

 rd 

ok;qe.My dh Å¡pkbZ rd ik;h tkrh gSA 

 
40. Homosphere layer is found mean sea 

level upto ........... height of atmosphere. 

(A) 0&20 fdehŒ  (A) 0-20 km 

(B) 20&60 fdehŒ  (B)  20-60 km 

(C) 90 fdehŒ  (C)  90 km 

(D) 500 fdehŒ ls vf/kd  (D)  above 500 km 

41. ekSle ds ?kVd gSa % 
 

41. Components of weather are : 

(A) rkieku  (A) Temperature 

(B) vkæZrk ,oa o”kZ.k  (B)  Humidity and Precipitation 

(C) lkS;Z fofdj.k  (C)  Solar radiation 

(D) mi;qZDr lHkh  (D)  All of the above 



 

AG-4008 ( 15 )  Set-D 

42. ,dleku ok;qe.Myh; nkc dks dgrs gSa % 
 

42. The line of equal atmospheric pressure is 

called : 

(A) lenkc js[kk  (A) Isobar 

(B) lerki js[kk  (B)  Isotherm 

(C) lees?kkPNUurk  (C)  Isoheph 

(D) leo`f”V js[kk  (D)  Isohyetal 

43. izR;sd 900 QhV dh Å¡pkbZ ij ok;qe.Myh; 

nkc esa 
-----------------

 dh deh gksrh gSA 

 
43. Every 900 feet height decreases the 

atmospheric pressure : 

(A) 34 feyhckj  (A) 34 millibar 

(B) 54 feyhckj  (B)  54 millibar 

(C) 29 feyhckj  (C)  29 millibar 

(D) 1013 feyhckj  (D)  1013 millibar 

44. jktLFkku dh tyok;q gS % 
 

44. Climate of Rajasthan is : 

(A) xeZ vkSj vkæZ  (A) Hot and humid 

(B) BaMh vkSj vkæZ  (B)  Cold and humid 

(C) xeZ vkSj ‘kq”d  (C)  Hot and dry 

(D) BaMh vkSj ‘kq”d  (D)  Cold and dry 

45. jk”Vªh; lqnwj laosnu ,tsUlh fLFkr gS % 
 

45. National Remote Sensing Agency 

(NRSA) is situated at : 

(A) y[kuÅ esa  (A) Lucknow 

(B) gSnjkckn esa  (B)  Hyderabad 

(C) casxyq# esa  (C)  Bengaluru 

(D) ubZ fnYyh esa  (D)  New Delhi 
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46. {kksHke.My dh vkSlr Å¡pkbZ 
---------------------

 esa lcls 

de gksrh gSA 

 
46. The average height of troposphere is 

nearest in : 

(A) dfVcU/kksa  (A) Tropics 

(B) e/; v{kka’k  (B)  Middle latitudes 

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) /kqzoh; {ks=  (D)  Polar region 

47. leqæ rV ij vkSlr ok;qe.Myh; nkc gksrk  

gS % 

 
47. The mean sea level atmospheric pressure 

is : 

(A) 1010-25 feyhckj  (A) 1010.25 millibar 

(B) 1013-25 feyhckj  (B)  1013.25 millibar 

(C) 1111-25 feyhckj  (C)  1111.25 millibar 

(D) 1310-25 feyhckj  (D)  1310.25 millibar 

48. o”kkZ tSlh ekSle dh ?kVuk,¡ 
------------

 esa gksrh gSaA 
 

48. The weather phenomena like rain occur 

in : 

(A) e/;e.My  (A) Mesophere 

(B) lerkie.My  (B)  Stratosphere 

(C) {kksHke.My  (C)  Troposphere 

(D) ckáe.My  (D)  Thermosphere 

49. ^ekulwu* ‘kCn gS % 
 

49. The word „Monsoon‟ is of : 

(A) ySfVu  (A) Latin 

(B) Hkkjrh; ewy dk  (B)  Indian origin 

(C) vjch  (C)  Arabic 

(D) ey;kye ewy dk  (D)  Malayalam origin 
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50. Qly mRiknu ds fy, vuqdwy rkieku gS % 
 

50. The optimum temperature for crop 

production is : 

(A) 16-18°C  (A) 16-18°C 

(B)  18-24°C  (B)  18-24°C 

(C)  22-25°C  (C)  22-25°C 

(D)  20-30°C  (D)  20-30°C 

51. mŒ izŒ ds fdrus Ñf”k tyok;q {ks= gSa \ 
 

51. How many agro-climatic zones of U.P are 

there ? 

(A) 8  (A) 8 

(B)  9  (B)  9 

(C)  10  (C)  10 

(D)  12  (D)  12 

52. fo’o ekSle foKku fnol euk;k tkrk gS % 
 

52. The World Meteorological Day is 

celebrated on : 

(A) 20 ekpZ dks  (A) 20th March 

(B) 21 ekpZ dks  (B)  21st March 

(C) 22 ekpZ dks  (C)  22nd March 

(D) 23 ekpZ dks  (D)  23rd March 

53. o”kkZ okys ckny gSa % 
 

53. Which is rainy clouds ? 

(A) o”kkZ Lrjh es?k  (A) Nimbostratus 

(B) diklh o”kkZ es?k  (B)  Cumulonimbus 

(C) Lrjh es?k  (C)  Stratus clouds 

(D) nksuksa (A) vkSj (B)  (D)  Both (A) and (B) 
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54. Hkkjr esa ekulwu ds vkjEHk dh frfFk gS % 
 

54. The date of onset of monsoon in India is : 

(A) 1 twu  (A) 1
st
 June 

(B) 1 tqykbZ  (B)  1
st
 July 

(C) 1 ebZ  (C)  1
st
 May 

(D) 1 vxLr  (D)  1
st
 August 

55. ok;q dh xfr vR;f/kd gks tkus ij ok;qe.My 

dh n’kk gks tkrh gS % 

 
55. When the wind speed becomes excessive, 

the condition of the atmosphere becomes : 

(A) fLFkj  (A) Stable 

(B) vfLFkj  (B)  Unstable 

(C) ‘kkUr  (C)  Peaceful 

(D) vuqdwy  (D)  Favorable 

56. e/;e.My rFkk vk;ue.My ds e/; laØe.k 

isVh gS % 

 
56. The transition zone between mesosphere 

and ionosphere is : 

(A) VªksiksikWt  (A) Tropopause 

(B) LVsªVksikWt  (B)  Stratopause 

(C) ehtksikWt  (C)  Mesopause 

(D) FkeksZLQh;j  (D)  Thermosphere 

57. Hkkjrh; ekSle foKku foHkkx dk eq[;ky; 

fLFkr gS % 

 
57. The headquarters of Indian 

Meteorological Department (IMD) is 

situated at : 

(A) iq.ks esa  (A) Pune 

(B) ubZ fnYyh esa  (B)  New Delhi 

(C) psUubZ esa  (C)  Chennai 

(D) f’keyk esa  (D)  Shimla 
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58. i`Foh ds rjy Hkkx dks bl :i esa tkuk tkrk 

gS % 

 
58. The liquid part of the earth is known as : 

(A) tye.My  (A) Hydrosphere 

(B) LFkye.My  (B)  Lithosphere 

(C) thoe.My  (C)  Biosphere 

(D) ok;qe.My  (D)  Atmosphere 

59. vYikof/k ekSle iwokZuqeku 
-----------------

 dh vof/k ds 

fy, mi;qDr gSA 

 
59. The short range weather forecast is valid 

for a period of ............... . 

(A) 1&3 fnu  (A) 1-3 days 

(B) 3&7 fnu  (B)  3-7 days 

(C) 10&15 fnu  (C)  10-15 days 

(D) 30 fnu ;k mlls vf/kd  (D)  30 days or above 

60. ,d o”kkZ dk fnu og gS tks fnu esa 
-----------------

 o”kkZ 

izkIr dj jgk gSA 

 
60. A rainy day is one, the day receiving 

rainfall : 

(A) 1.5 feehŒ ;k mlls vf/kd  (A) 1.5 mm or more 

(B)  5.0 feehŒ ;k mlls vf/kd  (B)  5.0 mm or more 

(C)  2.5 feehŒ ;k mlls vf/kd  (C)  2.5 mm or more 

(D)  10.0 feehŒ ;k mlls vf/kd  (D)  10.0 mm or more 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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